L Y 9-K

Porcentajes de numeros (nimero faltante)

x 70% = 43.4
x 80% = 40

x 40% = 2.4
x 70% = 46.9
x 70% = 55.3
x 80% = 56

x 30% = 3.6
x 90% = 48.6
x 20% = 19.4
x 40% = 6
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Fecha:

x 10% = 7.6
x 90% = 5.4
x 20% = 15.8
x 70% = 29.4
x 40% = 24.4
x 10% = 3.8
x 10% = 4.7
x 80% = 65.6
x 70% = 7.7
x 30% = 17.7

Puntuacion:
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RI&AB

Porcentajes de numeros (nimero faltante)

Nombre:

62 x70% =43.4

50 x 80% = 40

6 x40% = 2.4

67 x70% = 46.9

79 x70% = 55.3

70 x 80% = 56

12 x30% = 3.6

54 x90% = 48.6

97 x20% =19.4

15 x40% = 6

Fecha:

76 x 10% = 7.6

6x90% = 5.4

79 x20% = 15.8

42 x70% = 29.4

61 x40% = 24.4

38 x 10% = 3.8

47 x 10% = 4.7

82 x 80% = 65.6

11 x70% = 7.7

59 x30% = 17.7
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Puntuacion:
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